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._ %*ﬁrﬂﬁﬂﬂﬂ hui twﬁr} th%’ng dﬁ* | horse laden with as m ﬂ:il @ Hﬁ
.-;jjﬂﬂﬁﬁ“ﬂt‘_i_hliw aensibly you use j-};ﬁ. could carry, = )
Pm.{;_ﬁﬂid the old man A ’ "\eaﬁh it WRE {;H-‘ Hﬂi’ii "'m.’fii B
_In a few days, the old man '.-_"'{"urr to see what he could get of
died. His sons decided to make | his cat. He went about wande fm?s‘f
their fortune uging the gfﬂﬁ they | through many towns ammt B
f‘ﬁﬁﬁ‘-"&d ﬁ‘ﬂm thmr father ﬁﬂ ti]n? ?-. .-rt'ar:hmi .5;1: ;rl“tnv whl 59 ok ﬁaln;l’.‘ 5 ..uf
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t&w;ﬁ and cities until he reached the mice. They fm S0 many th-ﬁ;*
| An 13 sland Whﬁrﬂ people didn't | 'thn dnnee upoan uur L‘iljli ﬂl‘t—ii
_know how to divide their time. | .h{f‘i"ﬂ‘_‘h_ﬁ}.ﬁ_uﬂd griaw whatever they
| ‘Perhaps, thig should be the ?‘ﬁht""- catch h{:ﬁi& of, Hnw U‘J-‘F}ﬁi{ii.i-’i,ﬂ.ﬂ.
| place to use my rooster, he
"thﬂﬂght 20 he ﬁﬂﬂ&ﬁ out to the | for sometime. She hu_f}fﬂn her
people and said, ‘Look! Here is an -"c:hﬁh and soon cleared m,mﬂ. ’
amazing creature’ it has & FUB:’“ | houses People wvrv' ex tnr-mt h‘
red crown upon its head like E’:"*hapm* to see this. They begged
knight. It crows four times dur- | the king to buy the 'm-urldcermhrv'-l--
g the mght and when it crows | ture for their kingdom. I‘E’;n’:-~ hm“'
fl':rI' thﬁ- lﬂat tlme thE Eun Eﬁﬂﬂ I‘!&- -:{_.'i.:"-Eldjl}".i‘l.g.-.,l‘lé‘t?.:(} and i:ri.:l__;u;_,ht. 1_‘L HH'E a

mule lad en with gold. The :,qu n-
est son ha lﬁnil}‘*- returned home.
Thu:a the three sons made the
best out ui their i"ltht:*r 3 gifls andi
'hytd in weaith ang prm;mnh '
8. Whlf.h of thu followi ing ‘i.n be
an apprupn tv LlLlL iur tlm_
story? |
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re ﬁm &1—25} °In these
tlons, sentences with four
" .dﬁ are gwen One from

: r wrongly spelt or inap-
iate in the context of the sen-
nd out the word which is

wly appuintﬂd vice[ ..

&l gnvernur {2) newiy
3) appointed

4) ocuppy
n hisiicw hook the author
argues that firms should

generate value for societ-
e as well | as Ehamhalders.

arguea (2) generate
{4) societie

given in the bold may

7 8pelt or inappropriate. 1f
hat word will be your an-
It all words given in the bold
orrectly spelt and also appro-
in the context of the sen-

(5} .A]l {:ﬂrrer::t '

Bzr&cﬁnna {ﬂ&»—%} in the

fnliﬂwmg passage, there are
blanks, each of which has been

numhered These numbers are

prmted below the passage and-

against each, five words are sug-

gested, one of which fits the blank |
&pprﬂpﬂﬂtei}r Find out the apprn-f |
priate word in each case, -
_ The two fish, named Multiwit
and Centzwat lived in a lake with a

frog named Uniwit. One evening,

as they were sitting by the lake,
_ two fishermen (26) by, planning to
- come fishing at the lake in the next

morning. After (27) the fisherman
talk, the frog advised that they

| should leave the lake (28). Multi- |

wit laughed and said, ‘Don’t be
_ | frightened Uniwit. Our many wits

_say (29) will happen tomorrow.
Frog, inclined to his instincts and -
(30) the lake that night. The next
_morning, fishermen caught Multi-

wit and Centiwit in their nets. And

80 it is better to pay heed,

26, (1) walking (2) swimming
~ (3 went  (4) travel

. Bpast

2‘? @ Listenmg (2) Hearing

_ (3) Eavesdropping

(4) Afterwards
(B) Knc}mng '
28, (1) just (2 closely
(3) lately  (4) directly
(6) immediately
29. (1) nothing (2) this
(8) which (4) nﬂbudy
(6) harm = .
30, (1) away  (2) ?anished

{8) left (4) hid
.. +{5) disappeared

S min

_ [ - NUMERICALABILITY |

31 Ram invested a certain sum'_ _
_in Scheme A, which offers
. simple interest at the rate oI
12% p.a. for 3 years. He also.
invested Rs. 6,000 in Scheme

B, which offers compound in-
terest (compounded annual-
ly) at the rate of 10% p.a. for
2 years. If the interest f&!ﬂ_!‘ﬂéd' o

2
from Scheme Ais = th of the

interest from Scheme B, what
is the sum invested 1n

Scheme A7

(1) Rs. 10000 (2) Rs. 12500

(3) Rs, 85000 {4) Rs. 13500
(6) None of these

32. The sum of two positive num-
bers is 1840, If 40% of the
first number is equal to 76%

of the second number, what

is the larger number among

the two? i |
(1) 1400  (2) 1240
(3) 1560  (4) 1420
(5) 1200 :
33. Erd of a numhe_r;___i__sz.'_fnur

more than - th of another

. number. If the sum of the two
numbers is 17, what is their

_ product?
1 (264
13) 48 (4) 63
(6) 92

34, Five years ago, the average--'

of Rimt's age that time and
Ruhi's age that time was 12
vears. Three years from now,

if the respective Tﬂtlﬂ hﬂ*‘

tween Rimi’s age and Ruhi’s
age that time will be 2
._ whai: is Rimm prﬁﬁe&t
(1) 1‘? years @2 38 yea
(3) 27 years (4) 1
By 22 years
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fiﬁ) 26& {‘4} 312
41 Eﬂﬁ E{}B 19‘2 22&
hieo @ 19&
iﬁ} 145 ='5-,L;:;;43._154__-_~_;

42 IBB 92
1) 9 2 -
B2
t5) ﬁ 4 L'L."i

(1} 2{}2

(3) 189

(5) 1’?1_:_
44 The sellmg prme 'Df 16 ChEII'S
is equal to the seihng pnce

258

e

nf 6 tahies, if the tﬂtal Eellmg ':_

prme G‘f Ei f.*h zrﬁ anﬂ:i 3 iata&u..
tﬂgﬂﬁhﬂf 18 Rs. 780, what is
 the total h&!lmg price of
t:hmrs; and 1 table t{}guthep?
(1) Rs. 920 f'-“?;-f-{-.‘z-} Rs. 960
{3} R-a‘ 983 E*i} Rs. 1,060
(5) Rs ESS o

45_ TWG t]"‘ﬂlnh .‘atﬁrteﬁi running
"'fi*am the 3&111& pmnt at the
EE.I‘HE tlm'_ IH ﬂppﬂ&zle diree-
tmnﬁ {nn& towards North and

’, ather tawards South). The

. Epﬂﬂd {}f the twn trains is 16
- m/s End 14 TIL"S I‘ES[JEEi:WL!r

" ff'-;".-f_.-.a.-;.-_i'Z:Hcrw much time will they take

to be 3‘?8 km___ ﬂ’pﬂ:fﬂ‘ (in

, _.;f-fﬁ}. 3 Z-hﬂu rs
-;j'{'i} 3 5 hﬂurﬂ:

46 What 15 the respechve ratm
hetween tntal numher crf
m&mbErE in health club C in

2609 and 2011 tﬂgether and
tha‘l: in health club B in the

same years tﬂgether‘?
0 13 15 @ 1
(3) 9: lﬁ {4}‘:};
(E) 11; 18

471 1t 62% of t'fhe tnta] number uf

memhers in health clubs C
a 5151 E tugether in 2010 are

mﬁle%_, whﬂt is the tutal num- -

L

.43 Whﬁt .15- {-thﬂ dszarenea h&-..i"i:;'i

49 What 15 the average numher

tween tn:rtal number crf nlemu;_-.f-""
_ bers in health clubs A and B
tﬂgﬂther in 2{309 dnd that et
health f:lubs ]3 ﬂnd E tageth-

_of members in health %:1111:::5
ﬁ,ﬁ O and E m 2012'? :;_-E:
s 0l
§3} 1’? '? {4} 171
{5) 1?3 =

5&.:% Nmriber ﬂ‘f memhexs m .' heﬁlth
e ﬁluhnB increased b}* wh'&t per-
ﬂEﬂt i’rﬂm 21111{3 tﬂ 2{}13‘?
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. ;_%’i" come m place of the
i mark (?) i in i:he fﬁllﬂwn

What
guestion

g que&a
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{2) 162

(4) 216

59, (&15 x'320} 45 xﬂ2"
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64. V29 m# '.-J?"ﬁa - 3*@1 -
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35 A mrcukar cﬁppﬁr WIPE‘ ﬂ{‘
_ radius 14 om 18 bent to ff:;r'm 4
rt.ctangle 1f the breadth and -f"t
thf,- length of the rectangle are
_in the ratm {}FB 8 r&ﬁIjﬁttm.ly,ﬁ_ﬁ{-?"'-""-"' '

Whﬂt is th{: length {‘jf thL

rectangle"’ (m ¢m)
(1) de {E} ]Ei
La} 24 ) 12
{5} Nﬂnﬂ nf these

REASONING

GE In a stm:ght hne nf twelvc,

pﬂrﬁﬂns {facmg nurth} J sm:,
f{:uurth from the right Lﬂd Uf

_the line. Only two persons
hetween J and S. M sits sec-
_ond to the left of 8. O sits to
_the immediate left of M. How
_many Dersﬁns’i‘lmt between 0
_and Q2
) Three (Q;;%;-Fwe

(3) Cannﬂt IJL deterrnmed

@ Nﬂne (SJT'fF‘;crur -
GT In a certam ﬂuﬁ_e:.___languﬂge .

READ 18 written ﬁﬁ $E5%6

and PAID is wrltfén as'$ 9%

46, How is RIPEJ."*',i.rrltten 111""E -

that Eﬂde 1anguﬁge'?
(1)#4$5 {2)#6$5
(3)$4#5 (4J$4#6

(5} @l;her than thnbe gwen aS
' uptmnﬂ

BB Iﬁ a certam cﬂde Eanguage

~ ‘their new penf:ﬂs is coded as
‘“731'. Similarly, ‘box of pen-
cils’ is coded as ‘352’ and ‘their =
WﬂﬂﬁEn br.}x is cﬂded as *&15’-~
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Directions (6970 - ggﬂgﬁ':_-“ {Ef}'ﬁt 16 '&ﬁ#-ﬁf the imﬁiﬁ?
- the follomwin mlormation carefisity E - Selgnbours of B

z:;i answer the {guﬂﬁmﬂa gﬁ*@ﬂ . '3_'23} Bils ﬁﬂﬂﬂeﬁd to the ﬁg&it"}

P . :
% Efﬁ L mﬂ!‘*ﬂﬁd e , Ehﬂﬂ hw .-'-.:'.“3} ?gligéﬂ ihﬁ |
i e : : '_ : e 3 : EE 1
ig I} ﬁgﬂtﬁd ta o . __{5}! ﬁniy Lhr% persons mt h&
-' 523 I}aﬂgrhtﬂ“‘*m—faw - T&Whﬂ ﬂmt}ngﬁ‘t thﬁ fﬂiiﬂmng ! “?&. ;
. 'fEP!‘EEent the zmm-&d:a&a
_- neaghhﬂurﬁ :::-f C"

 WBas 0
@B D {4} D G
.-.(5} H G

pmﬁ-ﬁ@ ?ié{n- Set

{2} One
{4} T\"s :,J

__ . Ihraﬂtmns (?MG} : In E&thi’ the followis 'gjuestmns a g ﬁ{ip of
ﬁiraaﬁrmﬂ {’1’1“’?5} Si:'u i __-numbersfsymbﬂis followed by five ton _'inat;ﬁgl letter codes is pis

ﬁﬂ]mngx Srmation carefully en. You h&ve to find out Whlch:-’ﬂ '
| sents the group of numbers/symbols
":aﬁ‘d?fm?wﬂ ﬁhaxtmes%@fm. gwe.n_“. and the cundmuns and mark

A0ns cﬂrrELtiv repro.
1 the EI?EH Eﬂdlng BVatem

Number [5[s[%]09 . T
AR or S}'l‘ﬂbﬂl el i i oele 3
tter Cude.-__' (RIEIHIY W Y V Z|J

hd | .-.'Gﬁndztlun::. .
i to the right f.}f e (1} If the ﬁrsi: and the last ele-
immediate neigh- . ::-ments are Udd nurnbem then

_ - their cudes are tﬂ he lnter"
peraon sits between . Ehanged

mmed:ate néighbuur T dlate}y f{}HGWEd as weii *?aa_
= . ':mmed:ately precede& by
ﬁﬁﬂd m the left of B _ symbol then that even num
t an 1mmedlate neigh- |  beris to be coded as ‘0" ) ZPWI
rof G | Gn) If the third issym- | (B PWH {}E {4} HPWBDE
four of the ﬁ}ﬂﬂmng ﬁve are . itis | . (B) BPY =
al .:.: 1;1 a ﬂEI‘t&lﬂ wa}r based to be Eﬂdi}d EE thﬂcﬂdﬂﬂf
' ﬂ-ieir pi:}s;tmna m the giv- | symbol. .
n _(iv) If the second last eiemeni; 5
_ an odd number then the

of last element
(Plaasa N nta

eﬂndltmns }
76 9 7 @* + 4
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’ m,ﬁ | ﬂ‘mng mfurmatmn carefuuy:._ﬂ:. '
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R

M. D é%nd O — are seated in

ey

| mut necessarﬂy in the same
® : :e;j.-szts thlrd tﬂ the ﬂght of O.
ﬁ mther H nor O sits at any of
ﬁ the extreme ends of the line.
El‘b& s&cnnd to left of N. N i 1§,
ot an 1mmed1ate nmghbuur
mﬁ%“‘fa ﬂg@H‘ S o e
¢ @f
%L £ 15 nut an 1mmedlate neigh-

(2) Twu
(4) 0ne

i u amnngst the fﬂ]lnwmg
:;E’E EKElﬂt]}?' 1n the mlddle of
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tﬂ E‘?

. rd tﬂ th& “ght
‘1_;.-. Eﬂﬁd tﬂ the ﬂght

ly three persuns sit be-

83 Y f ;.u:h Gf the fulluwmg rep-
%‘Ents peresuns seated at |

:e twn extreme encls nf the BB Statement

gb 'IE the pusntmn nf F wﬁﬁ 89 Stat em ent;

5 90 Statements

ho & ﬂngst the f‘ﬂilnwmg :';;::
. W ”‘”f;h Hnmﬂdlﬂte mght ﬁf

?' T

L-::‘i.?’ﬁ(?} B
Cnnclusmns
I D L
H Lv:D

: 87 Statement

J C}Y K{X
Cﬂnclusmns
I X > C

II K{J

R}E}T I}M
Cnnclusmns
I R ::- 1

II E a M

G{P}I UﬁN
Cunulusums
I O ~r: U
II P > N

H5a¢3>w?
Gﬂnﬂlﬂsmm '

f. h Jirections (86-»90} In each“._'
. | of the following ti = e
T swe q g questions, rela- |
o P r the questmﬂs gwen{{:_f .._:-:tlﬂHShlp b e difforent o

- ~ements is ahﬂwn n the state«-*{'_ﬁ-.--
o ifen persnns = E F G H :f-": ;ffments The statements are fol- |
| lowed by two Conclusions num- |

%ﬁﬁ 28 t hne fﬂﬂlng north, mth'-l:;. _.-bered I and II Stud}r the Ounclu«.’j-.

s ﬁg!”wlstamﬂﬂ between eaeh oth- gf'-smns based on the given state--:i’-; '
| ment (s) and rnarli the apprﬂpn-'-f
.._'fate anawer e o
Gwa answer (11I 1f hﬂth the:;,..-_. _:_-3_{.‘_9_2‘;-.:11:& 2 Geitinn coie [ suaze
:_ Cmnclusmn Iand Cﬂnc]usmn II are* ey -
G'rwe answer (2) 1f ea;ther:f. -
-_Cunclusmn I or Cﬂnclusmn II 15;};
3::_'true o e
leﬂ answer (3} 1f Ilﬂth&rf{{
;,::Cnnclusu}n 1 Ilﬂl' Cnnclusmn II is L
ff:_tI‘uE ' o -
0 Gwe answer (4) 1f cmly Cnn-*
_;jf-t:lusmn 11 is true 2 : o
- - Give answer (5) if unlj,r C{m—
_f'!-clusmn 11 is true :"-:,- Sl -

I 33 Statement

[o=arL s 2nyen
g us Led L A
e
ey
ot
“% -
=
Ll

as many letterﬁ be{iwﬂen.-;_:':-;
then in the word (in both for
ward and backward (in&ﬂﬂg_'-'_.
tions) as they have betwecr
them in the Engllsh aipha-{-'-‘”
betical serieg? . o
(1) Three {2} OHE

(3) Two (4) None

“(b) More than threé_"

FLUTE is coded as HJWRG
and GIANT is coded as IG-
CLV. In the same code lan-
guage, how will PLOTS be
~ coded as?
(D RIMVU  (2) NUMRQ
_(3) QMPUT (4) NNMVQ
i the numbers in
67452893 are arranged in
aseendmg order from left to
right, the position(s) of how
many numbt:,;_"{b) will remain

unchanged?
(1) None  (2) One
(3) Two (4) Three
(8) More than ':Eﬁree
Directions (94-95) : Study
the fu]lewmg information carefuii}? o

‘and answer the quustmns gman

:balcrw -
Fwe persﬂna - L, M N 13 and

o .P.- e hzwe different t}rpmg speeds;’}'_ff__
- M types faster than L, but slower
- _;_-Ethan EO t}fpt,a slower than only
| one person, L does not type at the
'slﬂwest Epﬂ&d The one who types .
| the third fastest i:ypes 73 wcards per
f"_-3m1nui:e The one whﬂ t}Tth tfarg

mmuie th&ﬂ hen ho
mﬁny Wﬂrdg. ; Gi%%; e or
mmute‘?’ -




ﬂf&&iﬁl of th&
_ numbers are in terchanged.

%at will be f:hee resultant rf

i: nf thﬂ Iﬁwest num
semnd diglt nf the
numher are. mult;-

‘the di g—
cendmg
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